> A
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240 dxl=s FHEZA A - BSAIY/MSEE - DES)
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= _ — d =
CHB - E(BH) - MM - B 0l &t o il Bl RE2
ni; 12,697,857 21,572,537 A 8,874,680
2 1,838,455
& 900,000
J| 240,000
< 1,039,536
o 529,833
Al 8,150,033
2280l Xz MEA A4 SAINg /LA s 5,477,157 5,587,022 A 109,865
&3
= 900,000
< 37,255
Al 4,539,902
2 &4 st 1,101,157 1,086,778 14,379
< 37,255
Al 1,063,902
ot 2ygAa X 107,155 114,420 ANT,265
< 37,255
Al 69,900
201 et 107,155 114,420 NT,265
= 37,255
Al 69,900
01 At 221l 107,155 114,420 AT,265
O1.28 =4l 107,155
-EEHtA Y A ElE X& 107, 155,000& 107,155
< 37,255
Al 69,900
terd 2te] Y AHIA =gl 155,602 125,958 29,644
101 124 dl 33,462 31,158 2,304
04 JI2ZHHZ2XREES 33,462 31,158 2,304
O2II2LIHRH 33,462
e ral:] 41,6803 «12H 5L« 123 30,010
-AHEE JI22 30,010,000& *11.5% 3,452
201 YetS Al 44,800 19,460 25,340
01 At 22l 16,720 18,020 A 1,300
O1.4et=&Hl 7,900
-XNABMELSAY L= H]
5,000,0003 «90%<& 2> 4,500
-—SJttZ M L ZOsl 500,000 23 1,000
-2t E HIths |2 50,0008 <152 +23] 1,500
-RY S5 &€ 22 M
1,000,000 *90%<& 2> 900
03.28=¢ 2,520
-AHIAERY A A 2EFE
70,000 «13H »23] 1,820
-aHINLNE SAsE 35,0003 x2H x103] 700
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HH: 2380 gille ZHMEZA HE (&Y - SA0/Y/MTE - DEFH)

&2 XN HE L (=& J)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
Ob5.= &l 6,300
-2 E L AHINESHREXN 02422
=4 7,0003 x5 «152 128 6,300
02 8323l 1,080 1,440 A 360
O1.332LHA 1,080
-2 A E deRs 30,000& 128 360
-BHE3PCAHE R 20,0003 «3CH*12& 720
03 A2 Z Hl 27,000 0 27,000
OXe 25 st=dZXd 27,000,000 27,000
202 oddl 7,200 7,200 0
01 =L o4 1l 7,200 7,200 0
OXNgZNads dRF=ENH
60,000 *5H 32! x83| 7,200
203 YR =2l 36,000 36,000 0
03 AIBFAH S Z=AY| 36,000 36,000 0
O2Jtetd & NGB MELESAY HRFAH|
10,000,000 *90%<& 2> 9,000
OXNGZHELsHE =8|
30,000,000 *90%<& 2> 27,000
206 M= Hl 2,800 3,500 AT700
01 =8l 2,800 3,500 AT700
OZeads 58 M 70,000& =404 2,800
301 L2 A3 1,640 1,640 0
09 &ALAHI B &S 1,640 1,640 0
OSotety 3o EAX 24
,000& 30 43| 840
Osotetd Zmel & Boisl F4AXp 2Hal
2,000& x200H *23| 800
307 21201 A 29,700 27,000 2,700
02 2t EXS 29,700 27,000 2,700
O0egol FMAE sore
18,000, 000& »90%<& 2> 16,200
OFSAIZ -0 (M)dol 2L X
4,500, 000% *304 & 13,500
Sa0lg 2 Aa32 X2 838,400 846,400 A 8,000
201 Let24d] 3,600 4,400 A 800
01 At 22l 3,600 4,400 A 800
O1.28 =84l 3,600
~ANTO HADA 2Y A
2,000,0003 «90%<& 2> 1,800
-AaaZo SYES NIAMGgHHW S22 X
& 4003 5,000 *90%< & 2> 1,800
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L= B

el

=

ZHC-sSH

ANy st

SA - FE - BI(EA) - NRAY - By 0l &t San DS
306 == 500,000 500,000 0
01 &3 500,000 500,000 0

Oxa32 SHESXE AtgH =9
500,000, 000& 500,000
307 21201 & 334,800 342,000 AT,200
02 QIZtFAE XS 64,800 72,000 AT,200
ORIST XI¥=A01Y H2II=X2 (2ot J|s
gaelds) 72,000, 000& »90%<E 2> 64,800
08 OIXt2& = 270,000 270,000 0
Oxdzo XA OIXNEMS 270,000
20149 & 4,500,000,000& *3/100% 1 135,000
-20138 & 4,500,000,000& *3/100+14 135,000
HEANT L SAMI 243 4,376,000 4,500,244 A 124,244
& 900,000
Al 3,476,000

HEANE 2435t 657,240 1,469,200 A 811,960
201 et 161,160 194,140 A 32,980
01 AFR2t2lHl 72,740 105,240 A 32,500

O1.4det=ZHl 45,300
HENE ALET Y|
4,000, 0003 »90%<& &> 3,600
-HEANY EEHES ME(20,40,220
L E30E) 1,000& *5,000 *90%<& 2> 4,500
-HSAE 245 I8 28 18,000, 000& 18,000
SEUAD AEN BA B
1,000,000& 122 12,000
-HSANE FEIIEA FH2L M
4,000& *1,000& 4,000
“ESYAI A Y WA 23D HA 89
400,000& «24 2 *43] 3,200
03.2g89=¢ 2,240
SSEUAMMUNE S R HALT
70,000 x8H 43| 2,240
O5.=2 &l 4,200
HENE YLET OFA22T 24
7,000 5«10«12 4,200
06.9xt= 21,000
-HSAE HOZZHA AXE
350,000& »10CH 23] 7,000
SHE(M M) WEANT HSS0 HA 29
500,000 =140 »22] 14,000
02 2324l 88,420 88,900 A 480
O1.332z=LHA 46,420
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. SfE|
S B (SH) - HMSA a2 0l &t o il Bl RE2
“AHE 2 HAE 44 23
3,000,000& x12& 36,000
—AHE @ EHAE MRS 400,000& x12& 4,800
=5 S22, FEZANE SAE HIIRS
20,0003 #1300 & +128 3,120
—AIHAEC Al BEE = 1,000,000& 1,000
ST AE AR AlIEUia BE S
1,500, 000& 1,500
O3. A€ ZHI =Xt 42,000
SN (SEAME) AIE2 2|
1,500, 000& 120 2 18,000
—AHAE AIE=2 | 2,000,000&x12& 24,000
202 Oddl 5,400 5,400 0
01 = LH 4 bl 5,400 5,400 0
OFSAZE &2) gfF8 2 245 39 4
(R 60,0003 *5H 3 63! 5,400
301 gt d= 3,160 4,160 A 1,000
09 SALAHIEA S 3,160 4,160 A 1,000
OFSANE ENH NJASAX AU
10,000& 100 1,000
OFEANE H3ALE, EE3 FA0H
60,0003 «6H 2 33| 2,160
307 gl2tol & 72,150 73,500 A 1,350
02 BIZHEAAMNEXS 12,150 13,500 A 1,350
OF= SLAF B2s HIHAY X8
9,000,000& «90%<& 2> 8,100
O35 =AY &3 FHAME N
900, 000& =571 Al & x90%< & 2> 4,050
05 BIZHRI & 3 60,000 60,000 0
O=TANE ZF3&E4A e 2
12,000, 000& *5H 4 60,000
401 AIEHI L 201 415,370 1,152,000 A736,630
A& HI 410,000 1,152,000 AT42,000
OESAIZE AEMH 80,000,000 =14 80,000
O3S AHE SMUI L= At
15,000, 000& 14! 15,000
OS24l &E AEE 24(LEDS)
15,000, 000& 14! 15,000
OFZAZE OLAOIE BExBAH(SASAIE)
300,000,000& 14 300,000
02 2feldl 4,290 0 4,290
OSEAZE OHHO0IE ExSAH(SLSAIZE) 2
2l i 300,000,000% *1.43/100 4,290
03 Al =2 THHI 1,080 0 1,080
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= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OHSAIE AEME AL2UH
300,000,000& *0.72/100%50%<& 2¢> 1,080
HEANE AL U XA 99,400 202,050 A 102,650
402 RI2EX =201 M 99,400 202,050 A 102,650
01 RIZERI2E X 99,400 202,050 A 102,650
OAMEAIZ A4 HEALS 50,000, 000& =14l 50,000
OZ2SHAIE SZMAAL (O 2 THEH S)
10,000, 0002 *35/100 9,500
OFSAT SAMLMG(EI], 28 S)
42,000,000& *95/100 39,900
SHAIE =2 HE(EX) 1,113,420 0 1,113,420
& 200,000
Al 913,420
401 Al HIZ 201 8] 1,113,420 0 1,113,420
& 200,000
Al 913,420
01 A& HI 1,100,000 0 1,100,000
OSoHAIE E=2H= 1,100,000,000& 14 1,100,000
& 200,000
Al 900,000
02 Zteldl 11,440 0 11,440
OSalAlE E=2H= 2Zeldl
1,100,000,000& *1.04/100 11,440
03 AIE 2 THHI 1,980 0 1,980
OEHAZE HESHE AE20UYI
1,100,000, 000& *0.36/100x50%<& 2> 1,980
HENEELARSEFIIBXNA(ER) 2,505,940 1,879,386 626,554
& 700,000
Al 1,805,940
401 Al HI K 201 I 2,505,940 1,879,386 626,554
= 700,000
Al 1,805,940
01 A& HI 2,470,000 1,852,500 617,500
OCUHHAIZ OIHIOIE AXI
800,000,000% =141 x95/100 760,000
& 200,000
Al 560,000
O=ZANZE ZHNeEl OAH0E &X
1,800,000, 000& * 141 %95/100 1,710,000
& 500,000
Al 1,210,000
02 Zteltl 30,180 22,217 7,963
OMHAIZ OHAHIOIE AXI Zeldl
800,000, 000& *1.23/100 9,840
O=SZAIE EHAC OtAHOCE &X Zeldl
1,800,000,000& *1.13/100 20,340
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el dSAE & S 245 (&)
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
03 Al S THHI 5,760 4,669 1,091
OUSHAIE OtAOCIE EX AIE=R O
800,000,000& *0.63/100%50%<& 2> 2,520
OSSAIZ ZE 2l OtHO0IE & Al& =il
1,800,000, 000& *0.36/100+50%<& 2> 3,240
2224 A s (MI=EX/ES) 7,113,618 15,874,335 A8,760,717
2 1,838,455
J| 240,000
< 1,002,281
o 529,833
Al 3,503,049
S A2s EE 370,330 409,132 A 38,802
< 46,600
Al 323,730
MNP K& 215,130 239,132 A 24,002
201 €24 9,330 11,260 A 1,930
01 At 22l 9,330 11,260 A 1,930
O1.det==2Hl 3,800
S AMXEAY LS
2,000,000 x90%<& 2> 1,800
-BHIZA EEN ME 25,000 »80H 2,000
038.28=¢ 3,010
“EARIEE S AR AdsE
70,0002 *112 13| 770
T ARIBADES FW HAAY
70,000 x8H x4 3] 2,240
05.2 2| 2,520
S AR S 02T 2A
7,000 «3& 102 «12& 2,520
202 04l 3,240 3,240 0
01 = LH 4 Hi 3,240 3,240 0
OLAMtE HRFANHI
60,0003 *3H 3L 63! 3,240
301 LAz 1,960 2,072 A112
09 BALAIHI 2 A2 1,960 2,072 A112
O=SXEBAAY 510 FAT B4
7,000 *80H »23] 1,120
OLAME 2HII2 AR AL =4
7,000 *30H x4 3] 840
307 21201 A 200,600 222,560 221,960
02 QB AEXS 150,600 142,560 8,040
Os&gas 249l 40,000,000 40,000
OSHEARLELX SIHIANA & AGaE
2 24| 18,000, 000& 18,000
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¢ 48 L ARS FF (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OAddLx AMEAE DI AL
4,000,000 *24 & 8,000
OMPESIEEIN sXEUHE, & S A
JINE oiel A& 900,000& 50 45,000
o222t &4 J&
60,0003 «70H »3 12,600
O AL g8 2 d20t & X2
9,000, 000& 9,000
OLAE MEUWHY W= 9,000,000 9,000
OLzx2t2 & 222X 35
4,500, 000& »23] 9,000
04 QIZtHAIE = 50,000 80,000 230,000
OLAZE =S8 A 50,000, 000& 50,000
22X AT A SAH(EX) 67,000 80,000 A 13,000
< 25,000
Al 42,000
307 glz2tol & 67,000 80,000 A 13,000
< 25,000
Al 42,000
04 QIZtHAIE X = 67,000 80,000 A 13,000
OZ2 X &otg ZJltisl XI& 37,000,000 37,000
< 10,000
Al 27,000
O&2 & JIE 22X A X3
30,000,000 30,000
< 15,000
Al 15,000
CEAYLNSESIEA(EX) 72,000 72,000 0
< 21,600
Al 50,400
307 21201 A 72,000 72,000 0
< 21,600
Al 50,400
05 RIZt2IEt = 72,000 72,000 0
OL=022X S4EHH2IXA
36,000,000 *20H A 72,000
< 21,600
Al 50,400
22 NIt M ALK& 16,200 18,000 A 1,800
307 glz2+ol & 16,200 18,000 A 1,800
04 BIZHHAIE RS 16,200 18,000 A 1,800
OZ22X JtH 18,000, 000& *90%<& 2> 16,200
22X ZE=ENg2 24 285,169 8,786,568 28,501,399
22X EEgEN2 29 285,169 977,747 A 692,578
101 14l 32,532 31,474 1,058




SN =S D
Bu: 22x =X
oo 22X Z=NAB 2Y CER-ED

SA B ER(EN) - AR - BES of & o4 San HIDZ2
04 DIt 22 XS+ 32,532 31,474 1,058
O3 =sape Y B A
41,680 3 200 25,008
O MEAE A2 & o3 A oA
af 41,680& 1H 100 4,168
O4li28 JIA2E3 29,176,000& *11.5% 3,356
201 B2 232,037 299,673 A67,636
01 At2 22l H 82,710 147,190 64,480
O1.eet=3Hl 36,650
-S2NESEEAE 2Y 2e=2H|
3,000,000& »90%<& &> 2,700
-S2E 29 HlS 600,000& »12& 7,200
=93 ¥4 700,000% 22| x20H 2 2,800
“EHEE HA 15,000 *65& *20H A 1,950
-APANE B2 EY 250,000 123 3,000
-HIIAE 7R 2e 89 400,000& 122 4,800
-A2HIOIEH 22EE =2
200,000& »12& 2,400
-2EXelAE 2elES 200,000 =123 2,400
=2 - 22 g4 =2 1703 %5,000m #4353 3,400
-=2 - 22 2088 5 300,000& 122 3,600
-0 Sl =2 200,000& »12& 2,400
O2.91€ 1 =Hl 600
-AlEE etE 2l A WS 150,000& »43| 600
0s.28=¢ 42,100
-2 A 8,500
=22(&8) 50,000 «1H 522 2,600
EH(E.2) 50,0002 «1E «118& 5,900
-2 LS FAME
35,0003 *2Al 2tx 1210t S %20=F %23 33,600
Ob.=&Hl 3,360
SZ2NSESEAS G o222 SA
7,000 4H 102 122 3,360
02 5524t 149,327 152,483 A3,156
O1.332=<LHA 127,400
=22 122,400
dot=R=s 2,000,000 «12& 24,000
Hies 4,500,000 «12& 54,000
SAARS 3,500,000& x12& 42,000
dJd3t & SMe3 200,000& »12& 2,400
=2 22 HAMYEE 5,000, 000& 5,000
O2.92Hl 1,056
-HZ 1, 1002 » 1CH *8Al 2 x 120 1,056




EM ZHES T
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gel: 22 SESXE

o4 24 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O3. A& & Hl* X bl 20,871
A=K X 2e 12,371
T = 2,079% *4,065M 8,452
c = 2,8273*1,386mM 3,919
=JIH - dIIAMES2 RAeldl 5,000,000 5,000
-HEdas |2l 2,000,000 2,000
-2 M2 1,500, 000& 1,500
202 (44l 3,600 3,600 0
01 = LH 4 4l 3,600 3,600 0
OZzisg=siaa 29 N8 0l
60,000 *4H »32 53] 3,600
206 TH 2 Hl 5,000 5,000 0
01 M= 4l 5,000 5,000 0
O=22X&sg=Xs2 29 ME 5,000,000 5,000
401 A2 HIL 2 TH Y| 7,000 633,000 626,000
01 A& Hl 7,000 633,000 A 626,000
OXZ HSoh 2N L +28F
3,000, 000& 1Al 3,000
O=a F=X& =X X 4,000,000 14! 4,000
405 XHoHF S HI 5,000 5,000 0
02 = A=l 5,000 5,000 0
OEM22d &A 10,0003 #2503 *23| 5,000
AU XA 6,060,352 6,678,635 A 618,283
= 1,838,455
J| 240,000
= 955,681
im] 529,833
Al 2,496,383
2xel&EsE XA 304,991 118, 161 186,830
101 @14 dl 39,505 39,435 70
4 D12t Z2XREES 39,505 39,435 70
O BSEME MEolad (2P AEA 39,505
] 70,0003 «2H x250 35,000
-AHEE JI2RE3 35,000,000& *11.5% 4,025
SHMEAN I 2 3B
60,000 x2H x4 3] 480
201 Let24d] 13,466 15,166 A1,700
01 At 22l 13,466 15,166 A1,700
O1.dBt=2H| 10,500
-2l EEAMY LS
7,000,0003 «90%<& 2> 6,300
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el MYTiH X & (el @2)
. SfE|
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
“SUNEN o el 28 o2 K9
1,000& %2, 00001 *90%< & 2+ > 1,800
-2 EE RSN EEFH ME
30,000& 2074 600
M EIIY S2MT 702
10,0003 200 *90%< & 2> 1,800
O3.2d=¢ 950
NG MR NEMAClS S BMLY
70,000 x5H x13] 350
SAEIEDIY HEE Y DR BALY
150,000 4 H 600
O5.2&Hl 2,016
-2 EE OIU2ZREN 24
7,0003 x2E « 12 128 2,016
202 O4dl 2,160 2,160 0
01 = LH 4 Hi 2,160 2,160 0
ogltelasE FRFA0o
60,0003 *2H 3 63| 2,160
301 et d=s 1,400 1,400 0
09 SALAHIEAS 1,400 1,400 0
OMIIEDIIY & KI|2 AL WE FAI
=R 7,000 «50H »4 2| 1,400
307 gl2tol & 56,460 60,000 A 3,540
02 QIZtFAE XS 18,000 18,000 0
ORM492 8=Js3JIUHz =#3H|
18,000, 000& 18,000
04 QIZHHAIE X = 4,860 5,400 A 540
OA=Q22X 2t & HS23 A
2,700,000& 24 2 *90%< &= 2> 4,860
05 RIZHRI & 3 3,600 3,600 0
OA=022X 2= 23
1,800, 000& *2H A 3,600
10 AtEI =S X2 X 30,000 33,000 A 3,000
OMEIEIIY SELXIA 30,000, 000& 30,000
402 QI2FXt20l ™ 192,000 0 192,000
01 QIZERt 22X 192,000 0 192,000
OXae ¥EHAASLT A (HE-24l)
192,000, 000& * 14! 192,000
SB2ZANY(BEX) 1,497,181 1,506, 124 A 8,943
< 337,934
o 529,833
Al 629,414
101 1244 dl 1,480,501 1,491,444 A 10,943
< 337,934
o 529,833
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el MYTiH X & (el @2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 612,734
04 JI2ZtHZ22 a2+ 1,480,501 1,491,444 210,943
O3SS22 A 21AHI(012) 1,480,501,000& 1,480,501
S 337,934
o 529,833
Al 612,734
201 ¢er24| 6,120 6,520 A 400
01 At 22l 6,120 6,520 A 400
O1.det==2H| 3,600
~ZToRAMY YBag|
4,000,000 x90%<& 2> 3,600
O3.2d=¢ 840
2222 ANY XTIV AW AL
70,000& «12H *13] 840
O5.2&Hl 1,680
—SE2ZAY A OFA2 2R 24
7,000 «2H 102 «123] 1,680
202 O4dl 2,160 2,160 0
01 = LH o4 1l 2,160 2,160 0
OZ2S22AY HEW=R 32 FA0H
60,0003 x2H 3 63 2,160
206 M= Hl 8,400 6,000 2,400
01 =4l 8,400 6,000 2,400
OS3S22AMY MW P (&, % PPEMY, XD
g5 S) 100,000& *210H 2 43 8,400
ZELIIGEAMEN 2I(BEX) 420,000 420,000 0
< 126,000
Al 294,000
307 gl2tol & 420,000 420,000 0
< 126,000
Al 294,000
02 RIZHENEXS 420,000 420,000 0
OSAJHAEHART 28l 420,000,000 420,000
< 126,000
Al 294,000
NSAMGRNELESA(BEX) 106,664 106, 664 0
< 32,000
Al 74,664
301 et A= 106,664 106, 664 0
< 32,000
Al 74,664
NMIIEEdS 106,664 106, 664 0
OXNgaglt HgEss 106,664,000 106,664
< 32,000
Al 74,664




2AM:
P22 82X S (MEEXN/IES)

el

X ZH
S =

ZHC-sSH

SN

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
SHOXGAATZAEHA(BEX) 24,934 26,115 A 1,181
= 19,947
Al 4,987
301 LBt A= 24,934 26,115 A 1,181
= 19,947
Al 4,987
11 JIEtE A= 24,934 26,115 A 1,181
Os0Hol XH9AAX} HAEHA 24,934,000& 24,934
= 19,947
Al 4,987
AN EIPE LICIEESAIL(EX) 1,353,234 1,085,303 267,931
= 1,014,684
= 101,480
Al 237,070
307 QI2t0| ™ 1,353,234 1,085,303 267,931
= 1,014,684
& 101,480
Al 237,070
02 A MNEXZ 1,353,234 1,085,303 267,931
OAZI &I Y LdXelEEs KA
1,353,234,000& 1,353,234
= 1,014,684
o 101,480
Al 237,070
ASIEDE S AFYIHEH XA (EX) 400,000 330,000 70,000
= 279,800
=} 35,860
Al 84,340
307 QI2t0| & 400,000 330,000 70,000
= 279,800
& 35,860
Al 84,340
02 U2AAMNEXZ 400,000 330,000 70,000
OMSEIS AFS L H XIS AS
400,000,000 400,000
= 279,800
= 35,860
Al 84,340
HEUTeAEE2 LT (BEX) 440,000 550,000 A 110,000
& 132,000
Al 308,000
307 QI2t0| ™ 440,000 550,000 A 110,000
& 132,000
Al 308,000
02 AAtAMNE XS 440,000 550,000 A 110,000
OFEHESAIE K& 440,000,000 440,000
& 132,000
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el MM X (B9 ®R)

SA-3H-S(3AH) - MRAS - BES Off &t 24
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M
2
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£l
Ol
0y

Al 308,000

B
Q
pa]
o
£
il
M0
02
bl
o
i
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166,000 166,000 0

33,200
Al 132,800

H

307 21201 & 166,000 166,000 0

33,200
Al 132,800

2l

=
(]
S
0¥
0
H
i
ol

166,000 166,000 0

166,000,000 166,000

33,200
Al 132,800

F
[

O
ﬂ
©
>
10
[z
m
Ho
)
>
{0

H

=
12
9
o
og
e
>
o
]
Hh
=
o
>
©
H
P

267,000 352,813 N 85,813

J| 240,000
Al 27,000

307 giztol & 267,000 352,813 N 85,813

Jl 240,000
Al 27,000

02 e2FHEEEXS 267,000 352,813 A 85,813
OXNSXEHLNCUETE NS
267,000,000 267,000

J| 240,000
Al 27,000

NEZSsHL el (EX) 967,948 1,931,455 A 963,507
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